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Inorganic Chemistry

Intr

'%‘br;nches of chemistry:

N

4 g I LIl Inorganic Chemistry

.2 & paall LSl Organic Chemistry
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.3 &bl <Ll Biological Chemistry

4 384 34l LY Physical Chemistry

5 4eluall ¢Lasll Industrial Chemistry

.6 bllail) ¢ Ll Analytical Chemistry Q)
7 4y 54y 53 LSl Nuclear or Radioactive Chemi;\ag@)%

Inorganic Chemistry: Q

It is the branch of chemistry that studies chemical cOmpounds that contain
elements except carbon. In other words, ino;@6 hemistry focuses on the study
of compounds that do not contain carbont\% to hydrogen, which may include

elements such as salts and metals. A@

e Inorganic chemistry i@g\%/arious chemical reactions and the study of the
physical and chem@roperties of inorganic compounds. Salts, oxides,
a

acids, and ba mples of compounds studied by this branch.
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Inorganic Chemistry
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Atomic structure:

The atom consists of a central mass, the nucleus, which is positivel
surrounded by electrons

These electrons move around it, which makes up the orbit. %pe of the orbit
In which it rotates varies \

Electron. Both Bohr and Rutherford believed that the electron's orbit was circular,
as shown in...

Figure below.

orbital electrons:.._____
n = principal

quantum number 2" 1
=3 1 (O

Nucleus: Z protons

1 for hydrogen to 94 for plutonium
N neutrons

D
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Atomic mass (A) = Z + N. Since nucleus are about 1840 times heavier th \
electrons. %

But in general, the charge of the electron is negative, and the numb ectrons
Is equal to a number

are found

Positively charged particles inside the nucleus "protons",{@@n to protons (P)

Neutrons (N) and their charge is neutral (mass of t@ry@eus = number +P +
number of N (£(n)) does not enter

The mass of the electron in calculating me&n ber or atomic weight of the

atom due to the small weight or mass@

Electrons are too small to coun}.\Q
) (mass number) = P + N 2l

Mass numbit@«) =P+N
Mass o@.ms x 10-%'

N=1.673 x 10
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of the atom:

Atom

Nucleus Electrons
The nucleus is the center of mass | | The electronic cloud determines the size, or
(A). but does not significantly | | volume, of the atom, but does not significantly
contribute to volume. It is made up | | contribute to mass.
of: Electrons: 0.0005 amu, charge=-1
Protons: Mass= 1 amu. charge=+1 | | Electrons are found outside the nucleus.
Neutrons:Mass=1 amu, charge=0 They occupy orbitals.
They are the units of negative charge.
They determine the atomic number (z).
The atomic number determines the atom's
identity.
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" ESCotar i T A Simplified view of the hydrogen

atom, which consists of only one
electron outside the nucleus. The
nucleus contains only one proton

and no neutrons. All other elements
> Nucleus contain neutrons in thier nuclei.

B\
A

Elements 1n the periodic table are indicated by SYMBOLS. To the
left of the symbol we find the atomic mass (A) at the upper corner, and
the atomic number (Z) at the lower corner.

- Symbol

E.\....‘L('l'l[.‘)':i's_ -: ]—l = C_

BN

A \‘ nt is made up of identical, extremely small units called atoms

%e asic structural unit of matter is an independent entity and cannot be divided
Q)Qxcept under harsh conditions

It remains as long as the natural, universal conditions remain. The elements differ
depending on their atoms and are composed of

D
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Two main parts:
1-Nucleus

2- The electronic shell surrounding the nucleus

Nucleus:

It is the solid mass of the atom located at its center consisting of particle
particles bonded with To each other througg n&b ectrical physical bonds called

mesons, where they are connected Proten
protons with neutrons \
In addition to the other particles pr in the nucleus, the nucleus has a positive
charge and its magnitude is protons

rotons, neutrons with neutrons,




